Preparation of Financial Statements

Answer 1
Delta
Statement of comprehensive Income for the year ended 31 March 2009

	
	$000

	Revenue (265,000 – 3,750 (W1))
	261,250

	Cost of sales (W2)
	(183,680)

	Gross profit
	77,570

	Distribution costs (W2)
	(13,960)

	Administrative expenses (W2)
	(23,960)

	Finance costs (W5)
	(13,140)

	Profit before tax
	26,510

	Income tax expense (W6)
	(12,000)

	Profit for the period
	14,510

	Other comprehensive income
	

	Gains on property revaluation
	75,000

	Total comprehensive income for the year
	89,510


Statement of changes in equity for the year ended 31 March 2009

	
	Share capital
	Retained earnings
	Revaluation reserve
	Total

	
	$000
	$000
	$000
	$000

	Balance at 31 March 2008
	100,000
	40,000
	-
	140,000

	Changes in equity in 2009
	
	
	
	

	Dividend
	
	(20,000)
	
	(20,000)

	Total comprehensive income for the year
	
	14,510
	75,000
	89,510

	
	100,000
	34,510
	75,000
	209,510


Statement of financial position as at 31 March 2009

	Assets
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment (W8)
	
	250,400

	Current assets
	
	

	Inventories
	40,000
	

	Trade receivables
	86,000
	

	Cash and cash equivalents
	48,000
	174,000

	Total assets
	
	424,400

	
	
	

	Equity and liabilities
	
	

	Equity
	
	

	Share capital
	
	100,000

	Revaluation reserve
	
	75,000

	Retained earnings
	
	34,510

	
	
	209,510

	Non-current liabilities
	
	

	Deferred income (W1)
	1,250
	

	Long-term borrowings (W9)
	131,140
	

	Deferred tax (W10)
	12,000
	

	Total non-current liabilities
	
	144,390

	Current liabilities
	
	

	Deferred income (W1)
	2,500
	

	Trade payables
	35,000
	

	Current tax payable
	8,000
	

	Short term borrowings (W4)
	25,000
	

	Total current liabilities
	
	70,500

	Total equity and liabilities
	
	424,400


W1
Revenue

Under the principles of HKAS 18 – Revenue – the after-sales service commitments of Delta require the entity to defer a proportion of the total revenue receivable under the contract. The amount deferred should cover the expected costs to be incurred by Delta plus a reasonable profit allowance on the servicing.
The total expected costs of the servicing are $4 million and at a margin of 20% this equates to a revenue figure of $4 million x 100/80 = $5 million. Since six months of the service period has elapsed then 6/24 of this revenue ($1.25 million) is capable of being recognised in the current period. Therefore $3.75 million is deferred and included as deferred income. $2.5 million of this deferred income is included as a current liability and the balance of $1.25 million as a non-current liability.
W2
Operating costs

	
	Cost of sales
	Distribution costs
	Administration expenses

	Per trial balance
	-
	10,000
	20,000

	Opening inventories
	35,000
	
	

	Purchases
	107,000
	
	

	Production costs
	50,000
	
	

	Closing inventories
	(40,000)
	
	

	Depreciation (W3)
	31,680
	3,960
	3,960

	To income statement
	183,680
	13,960
	23,960


W3
Depreciation
	
	$000

	Property (40,000/20)
	2,000

	Plant and equipment:
	

	– owned (80,000/5)
	16,000

	– leased (108,000/5)
	21,600

	
	39,600


Tutorial note

15/25 (or 60%) of the useful economic life of the depreciable element of the property has expired so the remaining useful economic life of the property at the date of revaluation is 40% x 50 years = 20 years.
W4
lease of machines
· The terms of the lease make this lease a finance lease.

· Therefore the leased asset will be included in property, plant and equipment from 1 April 2008 at fair value of $108 million and depreciated over five years.

· $108 million will be credited to payables and the loan profile over the first two years of the lease (years ended 31 March 2009 and 2010 respectively) will be as follows:
[image: image1.emf]
25,000 of the payable at 31 March 2009 is a current liability and the balance (89,640 – 25,000 = 64,640) a non-current liability.
W5
Finance costs

	
	$000

	Interest on long-term borrowing
	5,000

	Finance cost on preferred shares (10% x 15,000)
	1,500

	On finance lease (W4)
	6,640

	
	13,140


W6
Tax charge

	
	$000

	This year’s estimate
	8,000

	Last year’s under-provision
	1,000

	Transfer to deferred tax
	3,000

	
	12,000


W7
Revaluation surplus

	
	$000

	Carrying value before revaluation
	45,000

	Carrying value after revaluation
	120,000

	Revaluation surplus
	75,000


W8
Property, plant and equipment
	
	$000

	As per trial balance:
	

	– Cost
	140,000

	– Accumulated depreciation
	(33,000)

	Depreciation for the year (W3)
	(39,600)

	Lease asset (W4)
	108,000

	Revaluation surplus (W7)
	75,000

	
	250,400


W9
Long term borrowings
	
	$000

	As per trial balance
	50,000

	Preferred shares (15,000 x 1.1)
	16,500

	Lease payable (W4)
	64,640

	
	131,140


W10
Deferred tax

	
	$000

	As per trial balance
	9,000

	Charge to income statement
	3,000

	
	12,000


Answer 2
Kelvin Limited

Statement of comprehensive income for the year ended 31 March 2009
	
	
	$’000
	
	Marks

	Revenue
	
	127,780
	
	[0.5]

	Cost of sales (W1)
	
	(76,310)
	
	[4]

	
	
	51,470
	
	

	Other income – investment income
	
	420
	
	[0.5]

	Other income – profit on sale of plant
	
	800
	
	[0.5]

	Distribution cost
	
	(11,100)
	
	[0.5]

	Administrative expenses (W3)
	
	(21,289)
	
	[4]

	Other expenses (5,400 – 6,000 x 7%)
	
	(4,980)
	
	[1]

	Finance costs

(400 + 6,000 x 7% + 6,800 x 6%)
	
	(1,228)
	
	[1.5]

	Profit before tax
	
	14,093
	
	

	Income tax
	
	(4,000)
	
	[0.5]

	Profit for the year
	
	10,093
	
	

	Other comprehensive income:
	
	
	
	

	Loss on available-for-sale financial assets
	(300)
	
	[1]

	Gain on revaluation

[21,000 – (16,000 + 8,000/4)]
	
	3,000
	
	[1.5]

	Total comprehensive income for the year
	12,793
	
	[0.5]



(Total 16 marks)
	W1 Cost of sales
	
	$’000
	
	

	Beginning inventory
	
	7,000
	
	0.5

	Add: Purchases
	
	75,600
	
	0.5

	Depreciation (8,250/3)
	
	2,750
	
	1

	Less: Closing inventory (W2)
	
	(9,040)
	
	2

	
	
	76,310
	
	4


	W2 Closing inventory
	
	$’000
	
	

	Inventory at 10 April 2009
	
	6,000
	
	0.5

	Add: Sales during the period 1/4/09 – 10/4/09 [4,500 / (1 + 20%)]
	
	3,750
	
	1

	Less: Purchases during the period 1/4/09 – 10/4/09
	
	(710)
	
	0.5

	
	
	9,040
	
	2


	W3 Administrative expenses
	
	$’000
	
	

	Balance as per ledger
	
	18,250
	
	0.5

	Provision for warranty (127,780 x 5%)
	
	6,389
	
	1

	Depreciation of factory building overstated (21,000/15 – 8,000/4)
	
	(600)
	
	1.5

	Depreciation of plant and equipment transferred to cost of sales (8,250/3)
	
	(2,750)
	
	1

	
	
	21,289
	
	4


Kelvin Limited

Statement of financial position as at 31 March 2009
	ASSETS
	$’000
	$’000
	
	Marks

	Non-current assets
	
	
	
	

	Property, plant and equipment
[(21,000 – 21,000/15) + 19,250]
	
	38,850
	
	[2]

	Available-for-sale financial assets

(10,000 – 300)
	
	9,700
	
	[1]

	
	
	48,550
	
	

	Current assets
	
	
	
	

	Inventories (W2)
	9,040
	
	
	[1]

	Trade receivables
	18,000
	
	
	[0.5]

	Cash and cash equivalents
	3,180
	
	
	[0.5]

	
	
	30,220
	
	

	Total assets
	
	78,770
	
	

	
	
	
	
	

	EQUITY AND LIABILITIES
	
	
	
	

	Equity
	
	
	
	

	Ordinary shares at $1 each
	
	11,000
	
	[0.5]

	6% preference shares at $1 each*
	
	6,800
	
	[0.5]

	Retained earnings (9,080 + 10,093)
	
	19,173
	
	[1]

	Revaluation surplus

[21,000 – (16,000 + 8,000/4)]
	
	3,000
	
	[1.5]

	Other reserves (9,700 – 10,000)
	
	(300)
	
	[1]

	Total equity
	
	39,673
	
	

	Non-current liabilities
	
	
	
	

	Bank loans
	6,000
	
	
	[0.5]

	8% debentures
	5,000
	
	
	[0.5]

	Total non-current liabilities
	11,000
	
	
	

	Current liabilities
	
	
	
	

	Trade and other payables
	17,300
	
	
	[0.5]

	Current tax payable
	4,000
	
	
	[0.5]

	Provision for warranty (127,780 x 5%)
	6,389
	
	
	[1]

	Preference dividend payable

(6,800 x 6%)
	408
	
	
	[1]

	Total current liabilities
	28,097
	
	
	

	Total liabilities
	
	39,097
	
	

	Total equity and liabilities
	
	78,770
	
	[0.5]



(Total 14 marks)

* Preference shares can be placed under non-current liabilities.

Answer 3
(a)

Statement of comprehensive income for the year ended 31 March 2008

	
	
	$’000
	
	Marks

	Revenue (W1)
	
	161,900
	
	[2]

	Cost of sales (W2)
	
	(111,210)
	
	[5.5]

	Gross profit
	
	50,690
	
	

	Distribution costs
	
	(8,000)
	
	[0.5]

	Administrative expenses
	
	(26,000)
	
	[0.5]

	Other income (W1)
	
	1,000
	
	[1]

	Finance cost (W6)
	
	(8,590)
	
	[1]

	Profit before tax
	
	9,100
	
	

	Income tax expense
	
	(2,800)
	
	[1]

	Net profit for the period
	
	6,300
	
	

	Other comprehensive income (W7)
	
	15,600
	
	[1]

	Total comprehensive income
	
	21,900
	
	[0.5]

	
	
	
	
	[13]


[Correct format 1 mark]

(b)

Statement of financial position as at 31 March 2008

	Assets
	$’000
	$’000
	
	Marks

	Non-current assets
	
	
	
	

	Property, plant and equipment (W8)
	
	115,690
	
	[5]

	Current assets
	
	
	
	

	Inventories
	25,000
	
	
	[0.5]

	Trade receivables (W9)
	51,900
	
	
	[1]

	Cash and cash equivalents
	25,900
	
	
	[0.5]

	
	
	102,800
	
	

	
	
	218,490
	
	

	Equity and Liabilities
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital
	50,000
	
	
	[0.5]

	Revaluation reserve (W7)
	15,600
	
	
	[1]

	Retained earnings (W10)
	30,300
	
	
	[1.5]

	
	
	95,900
	
	

	Non-current liabilities
	
	
	
	

	Interest bearing borrowings (W11)
	51,000
	
	
	[1]

	Lease liabilities (W5)
	35,590
	
	
	[1]

	
	
	86,590
	
	

	Current liabilities
	
	
	
	

	Trade and other payables
	12,000
	
	
	[0.5]

	Provision for warranty claim (W3)
	1,200
	
	
	[2]

	Income tax payables
	2,800
	
	
	[0.5]

	Lease liabilities (W5)
	20,000
	
	
	[1]

	
	
	36,000
	
	

	
	
	218,490
	
	[16]


Workings – All figures in $’000 – do not double count

	1.
	Revenue
	
	$’000
	
	Marks

	
	As per TB
	
	164,000
	
	[0.5]

	
	Reversal of deferred revenue
	
	(12,100)
	
	[0.5]

	
	Inclusion at present value at date of sale
	
	10,000
	
	[1]

	
	Per income statement
	
	161,900
	
	[2]


HKAS 18 requires revenue to be measured at the fair value of goods or services provided. This is usually invoiced price, discounted to present value where material. In the current period Hugo will show finance income of 1,000 (10,000 x 10%) and the closing receivable will be 11,000 not 12,100 – an adjustment of 1,100.

	2.
	Cost of sales
	
	$’000
	
	

	
	Opening inventory
	
	19,710
	
	[0.5]

	
	Production costs per TB
	
	90,000
	
	[0.5]

	
	Closing inventory
	
	(25,000)
	
	[0.5]

	
	Warranty provision (W3)
	
	1,200
	
	[2]

	
	Depreciation (W4)
	
	25,300
	
	[2]

	
	Per income statement
	
	111,210
	
	[5.5]

	3.
	Warranty provision
	
	$’000
	
	

	
	Sales subject to provision
	
	20,000
	
	[0.5]

	
	Relevant proportion (20%)
	
	4,000
	
	[0.5]

	
	Total expected outlays (50%)
	
	2,000
	
	[0.5]

	
	Less: already incurred
	
	(800)
	
	[0.5]

	
	So extra provision needed under HKAS 37
	
	1,200
	
	[2]


	4.
	Depreciation of non-current assets
	
	$’000
	
	

	
	Buildings – 1/40 x 32,000 (see below)
	
	800
	
	[1]

	
	Purchased plant and equipment – 1/4 x 27,000
	
	6,750
	
	[0.5]

	
	Lease asset – 1/4 x 71,000 (W5)
	
	17,750
	
	[0.5]

	
	Total depreciation for the period
	
	25,300
	
	[2]


Note: The previous annual depreciation charge on the building was 560 (28,000/5) so the property was 10 years old at the date of revaluation.

5.
Leased asset

The lease is a finance lease. This means that on initial recognition 71,000 is included in assets and borrowings. The borrowing is treated as shown below – with an effective finance cost of 9% per annum:

	Opening balance
	Cash paid
	Balance in the period
	Finance cost
	Closing balance

	71,000
	(20,000)
	51,000
	4,590
	55,590


20,000 of this balance is current, and 35,590 non-current [2 marks]

	6.
	Finance cost
	
	$’000
	
	

	
	Interest payable on long term borrowings (50,000 x 8%)
	
	4,000
	
	[0.5]

	
	Relating to finance lease (W5)
	
	4,590
	
	[0.5]

	
	
	
	8,590
	
	[1]

	7.
	Property revaluation surplus
	
	$’000
	
	

	
	Gross surplus (10,000 (W9) + 5,600 (W9))
	
	15,600
	
	[1]

	
	
	
	
	
	


8.
Property, plant and equipment

	
	Property
	Plant and
	
	Total

	
	
	Purchased
	Leased
	

	Cost/revaluation
	
	
	
	

	As per TB
	50,000
	27,000
	-
	77,000

	Revaluation
	10,000
	-
	-
	10,000

	Leased asset included
	-
	-
	71,000
	71,000

	As at 31 March 2008
	60,000
	27,000
	71,000
	158,000

	Accumulated depreciation:
	
	
	
	

	As per TB
	5,600
	17,010
	-
	22,610

	Reversed out on revaluation
	(5,600)
	-
	-
	(5,600)

	Income statement for this year (W4)
	800
	6,750
	17,750
	25,300

	As at 31 March 2008
	800
	23,760
	17,750
	42,310

	NBV 31 March 2008
	59,200
	3,240
	53,250
	115,690



[5 marks]

	9.
	Trade receivables
	
	$’000
	
	

	
	As per TB
	
	53,000
	
	[0.5]

	
	Revenue adjustment (W1)
	
	(1,100)
	
	[0.5]

	
	
	
	51,900
	
	[1]

	10.
	Retained earnings
	
	$’000
	
	

	
	Bal. b/f
	
	29,000
	
	[0.5]

	
	Profit
	
	6,300
	
	[0.5]

	
	Dividend
	
	(5,000)
	
	[0.5]

	
	
	
	30,300
	
	[1.5]


11.
Interest bearings borrowings

50,000 + 4,000 (W6) – 3,000 (interest paid per TB) = 51,000 [1 mark]

Answer 4
(a)

Delta
Statement of comprehensive Income for the year ended 31 March 2009

	
	$000
	Marks

	Revenue (W1)
	317,500
	1

	Cost of sales (W3)
	(212,965)
	5

	Gross profit
	104,535
	

	Distribution costs
	(15,000)
	0.5

	Administrative expenses
	(25,000)
	0.5

	Finance costs (W4)
	(12,032)
	1

	Profit before tax
	52,503
	

	Income tax expense (W6)
	(11,900)
	1.5

	Profit for the period
	40,603
	

	Other comprehensive income
	
	

	Gains on property revaluation (W7)
	30,000
	0.5

	Total comprehensive income for the year
	70,603
	10


(b)

Statement of changes in equity of Delta for the year ended 30 September 2007
	
	Share capital
	Revaluation reserve
	Retained earnings
	Total
	Marks

	
	$000
	$000
	$000
	$000
	

	Bal. at 30 September 06
	100,000
	-
	45,000
	145,000
	1

	Gain on property revaluation (W7)
	-
	30,000
	-
	30,000
	0.5

	Excessive depreciation (W8)
	
	(1,440)
	1,440
	-
	1

	Profit for the period
	
	
	40,603
	40,603
	0.5

	Dividend paid
	
	
	(25,000)
	(25,000)
	1

	Balance at 30 September 2007
	100,000
	28,560
	62,043
	190,603
	4


(c)

Statement of financial position as at 30 September 2007

	Assets
	$’000
	$’000
	
	Marks

	Non-current assets
	
	
	
	

	Property, plant and equipment (W9)
	
	153,935
	
	2.5

	Current assets
	
	
	
	

	Inventories (W3)
	61,000
	
	
	0.5

	Trade receivables (125,000 – 7,500 (W1))
	117,500
	
	
	0.5

	Cash and cash equivalents
	54,500
	
	
	0.5

	
	
	233,000
	
	

	Total assets
	
	386,935
	
	

	Equity and Liabilities
	
	
	
	

	Capital and reserves
	
	
	
	

	Issued capital
	100,000
	
	
	0.5

	Revaluation reserve
	28,560
	
	
	0.5

	Retained earnings
	62,043
	
	
	0.5

	
	
	190,603
	
	

	Non-current liabilities
	
	
	
	

	Long-term borrowings (W10)
	118,932
	
	
	2

	Deferred tax (W11)
	7,400
	
	
	1

	
	
	126,332
	
	

	Current liabilities
	
	
	
	

	Trade and other payables (W12)
	70,000
	
	
	2.5

	
	
	70,000
	
	

	
	
	386,935
	
	[11]


Workings – all numbers in $’000 unless otherwise stated: note references refer back to the question

Working 1 – Revenue
Under the principles of HKAS 18 – Revenue – where goods are supplied on a sale or return basis then the sales value of returns should be excluded from revenue and taken back into inventory where there is uncertainty about the possibility of return. In this case we know that 50% of the goods have been returned by 30 November 2007 and there is uncertainty as to the level of future returns.
Therefore the total amount recognised as revenue (7,500 (6,000 x 100/80)) should be removed from revenue and receivables. Therefore the total revenue for the year should be 317,500 (325,000 – 7,500). [1 mark]
The cost of the goods supplied (6,000) should be added back to inventory and taken off cost of sales.
Working 2 – Depreciation

	
	$000
	Marks

	Property (56,000 x 1/25)
	2,240
	1

	Purchased plant (80,000 x 1/5)
	16,000
	1

	
	18,240
	

	Leased plant (22,900 (W5) x 1/4)
	5,725
	1

	Total
	23,965
	


Working 3 – Cost of sales

	
	$000
	Marks

	Opening inventories
	50,000
	0.5

	Purchases
	160,000
	0.5

	Production costs
	40,000
	0.5

	Closing inventories (55,000 + 6,000 (W1))
	(61,000)
	0.5

	Depreciation – purchased assets (W2)
	18,240
	2

	Depreciation – leased assets (W2)
	5,725
	1

	To income statement
	212,965
	


Working 4 – Borrowing costs

The total finance costs are 12,032 (11,000 + 1,032 (W5)) [1 mark]

Working 5 – Suspense account / leased asset
	Year to 30 September
	Opening balance
	Payment
	Balance in period
	Finance charge
	Closing balance
	Marks

	2007
	22,900
	(10,000)
	12,900
	1,032
	13,932
	1 (W10)

	2008
	13,932
	(5,000)
	8,932
	715
	9,647
	


Of the closing liability of 13,932, 5,000 is current and 8,932 non-current. [2 marks (W12)]
Working 6 – Tax charge

	
	$000
	Marks

	This year’s estimate
	10,000
	0.5

	Last year’s overprovision
	(500)
	0.5

	Transfer to deferred tax
	2,400
	0.5

	
	11,900
	


Working 7 – Initial revaluation surplus

	
	$000
	Marks

	Carrying value before revaluation
	60,000
	

	Carrying value after revaluation
	90,000
	

	So revaluation surplus
	30,000
	0.5


Working 8 – Excess depreciation

The actual depreciation charged in the period was 2,240 (W2).
The depreciation based on historical cost is 800 (40,000 x 1/50). [0.5]
So the excess depreciation is 1,440 (2,240 – 800). [0.5]
The accounting entry credits retained earnings with 1,440, debits the revaluation reserve with 1,440.
Working 9 – Property, plant and equipment

	
	$000
	Marks

	As per trial balance – Cost
	160,000
	0.5

	Accumulated depreciation
	(35,000)
	0.5

	Leased asset (note 5)
	22,900
	0.5

	Depreciation (W2)
	(23,965)
	0.5

	Revaluation (W7)
	30,000
	0.5

	
	153,935
	


Working 10 – Long-term borrowings

	
	$000
	Marks

	As per trial balance
	110,000
	0.5

	Non-current portion of lease liability (W5)
	8,932
	1.5

	
	118,932
	


Working 11 – Deferred tax

	
	$000
	Marks

	As per trial balance
	5,000
	0.5

	Income statement charge
	2,400
	0.5

	
	7,400
	


Working 12 – Trade and other payables

	
	$000
	Marks

	Trade payables
	55,000
	0.5

	Income tax liability
	10,000
	0.5

	Current portion of lease liability (W5)
	5,000
	1.5

	
	70,000
	


Answer 5
(a)

Kala

Statement of comprehensive income for the year ended 31 March 2006

	
	$000
	$000
	

	Revenue
	
	278,400
	

	Cost of sales (W1)
	
	(115,700)
	

	Gross profit
	
	162,700
	

	Operating expenses
	
	(15,500)
	

	
	
	147,200
	

	Investment income – property rental
	4,500
	
	

	– valuation gain (90,000 x 7%)
	6,300
	10,800
	

	Finance costs – loan (W2)
	(3,000)
	
	

	– lease (W3)
	(7,000)
	(10,000)
	

	Profit before tax
	
	148,000
	

	Income tax expense (28,200 + (14,100 – 12,500))
	
	(29,900)
	

	Profit for the period
	
	118,100
	

	Other comprehensive income
	
	
	

	Gains on property revaluation (W4)
	
	45,000
	

	Total comprehensive income for the year
	
	163,100
	


(b)

Statement of changes in equity – year ended 31 March 2006
	
	Equity shares
	Revaluation reserve
	Retained earnings
	Total

	
	$000
	$000
	$000
	$000

	At 1 April 2005
	150,000
	-
	119,500
	269,500

	Profit for the period (see (a))
	-
	-
	118,100
	118,100

	Revaluation of property (W4)
	-
	45,000
	-
	45,000

	Equity dividends paid
	-
	-
	(15,000)
	(15,000)

	At 31 March 2006
	150,000
	45,000
	222,600
	417,600


(c)
Statement of financial position as at 31 March 2006

	Non-current assets
	$000
	$000
	

	Property, plant and equipment (W4)
	
	434,100
	

	Investment property (90,000 + 6,300)
	
	96,300
	

	
	
	530,400
	

	Current assets
	
	
	

	Inventory
	43,200
	
	

	Trade receivables
	53,200
	96,400
	

	Total assets
	
	626,800
	

	
	
	
	

	Equity and liabilities
	
	
	

	Equity
	
	
	

	Equity shares of $1 each
	
	150,000
	

	Reserves:
	
	
	

	Revaluation
	45,000
	
	

	Retained earnings
	222,600
	267,600
	

	
	
	417,600
	

	Non-current liabilities
	
	
	

	8% loan note
	50,000
	
	

	Deferred tax
	14,100
	
	

	Lease obligation (W3)
	55,000
	119,100
	

	
	
	
	

	Current liabilities
	
	
	

	Trade payables
	33,400
	
	

	Accrued loan interest (W2)
	1,000
	
	

	Bank overdraft
	5,400
	
	

	Lease obligation – accrued interest
	7,000
	
	

	– capital
	15,000
	
	

	Current tax liabilities
	28,300
	90,100
	

	Total equity and liabilities
	
	626,800
	


Workings in brackets in $’000:
W1
Cost of sales

	
	$000

	Opening inventory
	37,800

	Purchases
	78,200

	Depreciation (W4) – buildings
	5,000

	– plant: owned
	19,500

	Leased
	18,400

	Closing inventory
	(43,200)

	
	115,700


W2
The loan has been in issue for nine months. The total finance cost for this period will be $3 million (50,000 x 8% x 9/12). Kala has paid six months interest of $2 million, thus accrued interest of $1 million should be provided for.
W3
Finance lease:

	
	$000

	Net obligation at inception of lease (92,000 – 22,000)
	70,000

	Accrued interest 10% (current liability)
	7,000

	Total outstanding at 31 March 2006
	77,000


The second payment in the year to 31 March 2007 (made on 1 April 2006) of $22 million will be $7 million for the accrued interest (at 31 March 2006) and $15 million paid of the capital outstanding. Thus the amount outstanding as an obligation over one year is $55 million (77,000 – 22,000).
W4
Non-current assets/depreciation:
Land and buildings:

At the date of the revaluation the land and buildings have a carrying amount of $210 million (270,000 – 60,000). With a valuation of $255 million this gives a revaluation surplus (to reserves) of $45 million. The accumulated depreciation of $60 million represents 15 years at $4 million per annum (200,000/50 years) and means the remaining life at the date of the revaluation is 35 years. The amount of the revalued building is $175 million, thus depreciation for the year to 31 March 2006 will be $5 million (175,000/35 years). The carrying amount of the land and buildings at 31 March 2006 is $250 million (255,000 – 5,000).
Plant: owned
The carrying amount prior to the current year’s depreciation is $130 million (156,000 – 26,000). Depreciation at 15% on the reducing balance basis gives an annual charge of $19.5 million. This gives a carrying amount at 31 March 2006 of $110.5 million (130,000 – 19,500).
Plant: leased

The fair value of the leased plant is $92 million. Depreciation on a straight-line basis over five years would give a depreciation charge of $18.4 million and a carrying amount of $73.6 million.
Summarising the carrying amounts:

	
	$000

	Land and buildings
	250,000

	Plant (110,500 + 73,600)
	184,100

	Property, plant and equipment
	434,100



P. 19

